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And do you really think that this is so?! But 1729 agrees with X2

OVERVIEW

The term 'R720MY in the X 3 is generally used to refute a given proof;
particularly in a case where it is clear that the text cited for the proof needs to
be amended regardless of the proof. It seems that in some texts the term
X720M was inserted to precede the question of '8277 7% n°X 727 ®M'. However,
*"w1 and N800 both agree that the term X720 should not be in the text.
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We do not read '872onY' in the text as *"'w" explains.'
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And shortly when the X3 concludes; ‘however, we must say that

concerning X''2w1 there was another person with him’ -
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The text should not state: '8»% — however’, for the intent of the question
and answer was not to refute the proof that "2 is the one who maintains maw>.

mooIn offers an additional proof that the 'a»non' is valid X777 N1pONAS.
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And shortly the X723 will also say, ‘that since »'"'2°7 maintains the reason

for saying 1"92 is because 7awY P82 PN ete.’ It is obvious that the Xm3 accepts
this proof that 5"2» is of the opinion of 7AW? PRP2 PRY.

SUMMARY
The word X720n1 does not precede the question 121 7727 X7,

THINKING IT OVER
How can there be a Xo7°3 of x120m?2!°

' See x730m "7 "wn. ("2 stated nPwH PROPAT N1 AL PRPA PRW; indicating that 191 was instituted
because of 7w like 727.)

* The term 'X%' in the X3 indicates that we are now retracting our previous opinion and are offering a new
opinion. In our situation, however we are not rejecting the original hypothesis that 2"2> follows the opinion
of 7127; this still remains valid. 5"2" states clearly 717aw? 1°%°pa 1Rw'. The question "121 7127 XY, was merely to
clarify the details of the story.

*See 2py> NINaN.
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